                                          MÈt 2


                                MÈÔikÈ - Tape 2





Now let us look at the second triad, the second ÔikÈ. It is called vedanÈ ÔikÈ. SukhÈya vedanÈya sampayuttÈ dhammÈ. SukhÈya and vedanÈya are in the instrumental case. ‘Sampayutta’ means associated with and then dhamma. So there are dhammas associated with sukha vedanÈ. ‘Sukha vedanÈ’ here means both sukha and somanassa. You know there are five vedanÈs. Right? Here only three vedanÈs are mentioned. So we take both sukha and somanassa to be sukha here. So there are dhammas associated with sukha vedanÈ.





DukkhÈya vedanÈya sampayuttÈ dhammÈ. There are dhammas associated with dukkha vedanÈ. ‘Dukkha vedanÈ’ also means both dukkha and domanassa.





Adukkha-m-asukhÈya vedanÈya sampayuttÈ dhammÈ. There are dhammas associated with vedanÈ that are neither dukkha nor sukha. Adukkha-m-asukha - the ‘m’ is just inserted to prevent joining together, coalescing. So we have adukkha-m-asukhÈya vedanÈya sampayuttÈ dhammÈ. Now the word ‘sampayutta’ - you already understand the meaning of the word ‘sampayutta’. Right?





Student: Sampayutta is one of the conditions in PaÔÔhÈna.





Teacher: When we say somethiing is sampayutta with some other thing, we mean the simultaneous arising, simultaneous disappearing, having one object and having the same base. That is what we mean by sampayutta.





In the AtthasÈlinÊ it is explained a little but  as common origin, having common origin, but it is not enough. And then the English translation is not good. He translated ‘ekopada’ as common origin, having common origin. That can be misunderstood. ‘Two things having a common origin’ means two things coming from a common source or something like that. Right? Here what is meant is two things having the same arising. That means arising together, arising simultaneously. For example citta and cetasika arise together and they disappear together. They have the same object. They have the same base like eye base, ear base and so on. 





SukhÈya vedanÈya sampayuttÈ dhammÈ. Let us find out how many are sukhÈya vedanÈya sampayuttÈ. The total number is 63, that is 62 (somanassa) plus sukha-sahagata kÈyaviÒÒÈÓa (body consciousness). So altogether there are 63 - four from akusala and then how many from ahetuka?





Student: Two from ahetuka. 





Teacher: Are you sure?





Students: Two. One. Three.


Teacher: Three from ahetuka. Right? There are sukha kÈyaviÒÒÈÓa, somanassa santÊraÓa and hasituppÈda, so three types of consciousness. And then there are four from kÈmÈvacara kusala, four from kÈmÈvacara vipÈka, four from kÈmÈvacara kiriya, and then four from r|pÈvacara kusala, four from r|pÈvacara vipÈka, four from r|pÈvacara kiriya, nothing from ar|pÈvacara. An then from lokuttara how many are there? Out of 40 there are 32. Right? There are first jhÈna, second jhÈna, third jhÈna, fourth jhÈna. So altogether there are 63 cittas accompanied by sukha. ‘Sukha’ here means sukha and somanassa. 





What about cetasikas? Try to imagine those which cannot go with somanassa.





Student: UpekkhÈ. 





Teacher: UpekkhÈ is vedanÈ, so that doesn’t mean much. What are the others? Dosa, issa, macchariya, kukkucca. They arise only with domanassa. What about vicikicchÈ? Yes, it only arises with upekkhÈ. So you take them out. How many do you get? It says here 46. Now remember that which is accompanied by sukha vedanÈ. VedanÈ cannot be accompanied by vedanÈ. You cannot be accompanied by you. So altogether there are 46 cetasikas. VedanÈ must be excepted. That’s the catch. I think that’s all. There is no r|pa, no NibbÈna. 





Then what about aggregates? How many aggregates are there? There is no r|pa. There is no vedanÈ. Right? VedanÈ is not among the cetasikas. VedanÈ cannot be accompanied by vedanÈ. Here the dhammas must be accompanied by vedanÈ. VedanÈ cannot be accompanied by itself. So we do not get r|pa aggregate and vedanÈ aggregate, but we get saÒÒÈ aggregate, sa~khÈra aggregate and viÒÒÈÓa aggregate. So how many? Three khandhas. Right? Yes. Again what are the three? SaÒÒÈ, sa~khÈra and viÒÒÈÓa.





Then bases (Èyatanas) are how many?





Student: Ten are gone. We have mind base and dhamma base.





Teacher: Yes. 63 types of consciousness are mind base and 46 cetasikas are dhamma base. So there are mind base and dhamma base, two. That is because there are only cittas and cetasikas. OK.





Then what? DhÈtus. There are 18 dhÈtus, but how many here? CakkhudhÈtu, yes or no? No. SotadhÈtu? No. GhÈnadhÈtu? No. JivhÈdhÈtu? No. KÈya? No. R|pa? No. Sadda? No. Gandha? No. Rasa? No. PhoÔÔabba? No. CakkhuviÒÒÈÓa? 





Student: Yes.





Teacher: CakkhuviÒÒÈÓa is accompanied by upekkhÈ, so no. SotaviÒÒÈÓa? No. GhÈnaviÒÒÈÓa? No. JivhÈviÒÒÈÓa? No. KÈyaviÒÒÈÓa? Yes, kÈyaviÒÒÈÓa accompanied by sukha is kÈyaviÒÒÈÓadhÈtu. ManodhÈtu? No. ManoviÒÒÈÓadhÈtu? Yes, the remaining 62 cittas accompanied  by soamanassa. And the dhammadhÈtu? The cetasikas are dhammadhÈtu. How many dhÈtus? Three. What are they? KÈyaviÒÒÈÓadhÈtu, manoviÒÒÈÓadhÈtu and dhammadhÈtu.





Student: The chart -





Teacher: Yes, you know if you go into detail the chart will  be very big. Then Sacca (Truths) - Dukkha? Yes. Samudaya? Yes. Nirodha? No. Magga? Yes. There are cittas. Among the cittas there are both Magga and Phala. So we can get Magga. So mundane consciousness accompanied by sukha, how many are there? 31. And then cetasikas? 46 minus lobha. Lobha is the Second Truth. So there are 31 mundane cittas accompanied by sukha and 46 cetasikas minus lobha, so 45 cetasikas. They are Dukkha. Lobha is Samudaya, the Second Truth. There is no Nirodha. And then Magga? It is the eight factors. You know there are four Maggas. Right? And then there are first, second, third, and fourth jhÈnas. So four times four is sixteen. So the eight factors arise together with the 16 Maggas accompanied by somanassa. Right? You have to look at the 121 types of consciousness. There are 40 lokuttara cittas, 20 Path and 20 Fruition. Among those 20 Path cittas 16 are accompanied by somanassa and 4 are accompanied by upekkhÈ. So we take the 16 that are accompanied by somanassa and the eight factors going along with them. They are the Fourth Truth, that is Right Understanding, Right Thought and so on. 


 


And then what is free of Truth, out of Truth? How many? With Magga citta there are normally 36 cetasikas. Right? So 36 minus 8? 28. Then 28 minus one vedanÈ. You must always remember that. So 27 cetasikas plus citta as 1. Right? So altogether there are 28 states, 27 cetasikas and 4 cittas as 1.





Student: What about 4 Phala?





Teacher: Yes, they will also be out of Truth. So 28 Path states (28 Magga states). That means Magga citta and cetasikas, 28 Magga states. And how many Phala states are there? There are 36 cetasikas normally. So we subtract vedanÈ and add Phala as 1, so 36. So there are 36 Phala states. 28 Magga states and 36 Phala states are out of Truth. Right? With lokuttara cittas, with Magga and Phala cittas there are 36 cetasikas. From the 36 you take vedanÈ out in this case. From the remaining 35 you take out the eight Magga factors. So you get 27 plus Magga citta as 1. That is 28. With regard to Phala we don’t take out the eight factors. So with the 8 factors there are 36 minus vedanÈ which is 35 plus Phala citta as 1, so 36. OK.





So the next one us dukkhÈya vedanÈya sampuyuttÈ dhammÈ. ‘Dukkha’ here means dukkha and domanassa. There are only three - two dosam|la cittas and one kÈyaviÒÒÈÓa accompanied by dukkha.





Now let us consider the cetasikas. They are dukkha vedanÈ. What about pÊti? No. What about lobha? No. DiÔÔhi? No. MÈna? No. VicikicchÈ? No. Take these out of the 27. That is because 27 cetasikas arise with akusala cittas, that is 13 plus 14. Then you have to take out vedanÈ. So you get 27 minus vedanÈ, pÊti, lobha, diÔÔhi, mÈna and vicikicchÈ, so 6. 27 minus 6 is 21. We get 21 cetasikas. So there are 3 cittas and 21 cetasikas. 





Now the aggregates, it is very easy now. There is no r|pa, no vedanÈ. There is saÒÒÈ, sa~khÈra and viÒÒÈÓa. SaÒÒÈ is saÒÒÈ aggregate. The remaining 20 cetasikas are sa~khÈra aggregate. The 3 cittas are viÒÒÈÓa aggregate.





What about bases? There are only two bases, mind base and dhamma base. Cittas are mind base and cetsikas are dhamma base.





Then we have elements (dhÈtus). What are they? Two or three? What are the two? What about kÈyaviÒÒÈÓa? Yes. Can you get manodhÈtu? No. How about manoviÒÒÈnadhÈtu? Yes, the 2 dosam|la cittas. Three cittas constitute two dhÈtus here, kÈyaviÒÒÈÓadhÈtu and manoviÒÒÈÓadhÈtu, and then the cetasikas are dhammadhÈtu. There are three dhÈtus. 





Then the Truths - is there Dukkha? Yes. Samudaya? No. Nirodha? No. Magga? No. There is only one Truth. The three cittas and 21 cetasikas are all Dukkha, the Truth of Suffering. So this second sentence is easy.





Student: The next sentence is difficult.





Teacher: If you go slowly, it’s OK. Don’t rush. The third one - ‘adukkhamasukha’, that means upekkhÈ, so those dhammas accompanied by upekkhÈ. How many cittas are accompanied by upekkhÈ  if we take the cittas to be 121? 55. Let us count. How many from akusala? 6. And then from ahetuka? 14. 





Then what about cetasikas? VedanÈ must be left out. What about pÊti? No. What about lobha? Yes. DiÔÔhi? Yes. MÈna? Yes. What about dosa? No. If there is no dosa, there are no issa, macchariya and kukkucca. So vedanÈ, pÊti, dosa, issa, macchariya and kukkucca, those 6 are exempted. 52 minus 6 is 46. The six include vedanÈ.





Student: We have 56 cittas? 





Teacher: No, 55. Oh I was too rushed. We were counting the 55 cittas and I did not finish. We will go back. How many from akusala are there? 6. How many  from ahetuka? 14. You can count them - seeing consciousness 2, hearing consciousness 2, nose consciousness 2, tasting consciousness 2, no body consciousness, sampaÔicchana 2, santÊraÓa 2, paÒcadvÈrÈvajjana and manodvÈrÈvajjana. How many? 14. Then from the kÈmÈvacara kusala there are altogether 12 (four from kusala, four from vipÈka, four from kiriya). And from the r|pÈvacara? Three, the fifth jhÈna. From ar|pÈvacara? 12. And from lokuttara? 8. If you add them up, you get 55. If you have the chart with dots, it is very easy. Just count the blue ones. You need to have this chart with you. So you take the blue ones. From the cetasikas we leave out vedanÈ, pÊti, dosa, issa, macchariya and kukkucca.





Now let us look at the aggregates. VedanÈ is always out. So there is no r|pa aggregate and no vedanÈ aggregate, but there are the other three (saÒÒÈ, sa~khÈra and viÒÒÈÓa). 





Then Èyatanas - ten are out of the question here. There is mana base (55 cittas) and dhamma base. The 46 cetasikas are dhamma base.





DhÈtus, let me ask. Is there cakkhudhÈtu?





Students: Some say yes and some say no.





Teacher: It is not cakkhuviÒÒÈÓadhÈtu; it is cakkhudhÈtu. ‘CakkhudhÈtu’ means eye sensitivity. So no. SotadhÈtu? No. GhÈnadhÈtu? No. JivhÈdhÈtu? No. KÈyadhÈtu? No. R|padhÈtu? No. SaddadhÈtu? No. GandhadhÈtu? No. RasadhÈtu? No. PhoÔÔabbadhÈtu? No. CakkhuviÒÒÈÓadhÈtu? Yes. SotaviÒÒÈÓadhÈtu? Yes. GhÈnaviÒÒÈÓadhÈtu? Yes. JivhÈviÒÒÈÓadhÈtu? Yes. KÈyaviÒÒÈÓa? No. ManodhÈtu? Yes. What are the manodhÈtu?





Students: PaÒcadvÈrÈvajjana and the two sampaÔicchanas. 





Teacher: And then there is manoviÒÒÈÓadhÈtu for the remaining cittas. How many have we taken? 8 plus 3, so 11. So there are 44. 44 cittas are manoviÒÒÈÓadhÈtu. And the cetasikas? All cetasikas, 46. They are what? DhammadhÈtu. Let’s go back to manoviÒÒÈÓadhÈtu. How many are manoviÒÒÈÓadhÈtu?  The remaining 44 cittas accompanied by upekkhÈ. That means 55 minus 11 (2 seeing consciousness, 2 hearing consciousness, 2 smelling consciousness, 2 tasting consciousness and then 3 manodhÈtu, so 11). 55 minus 11 is 44. And then the 46 cetasikas are dhammadhÈtu.





Truths, how many? Dukkha? Yes. Samudaya? Yes. Nirodha? No. Magga? Yes. What are the Truth of Suffering? 47 mundane cittas accompanied by upekkhÈ and then cetasikas except lobha because lobha is the Second Truth. So 45 cetasikas are Dukkha (Suffering). Lobha is Samudaya (Origin of Suffering). Then what about Magga? You have to look at the four fifth jhÈna Magga cittas. How many Magga factors do we get there? Do we get Right Understanding? Yes. Right Thought? No because vitakka is not there. The others are there. 





Student: This is not the Eightfold Path here.





Teacher: Yes, it is the Sevenfold Path here. These seven are Magga. With Magga how many cetasikas are there normally? 33. So 33 minus 7, and we must take out vedanÈ too, so 32. Then 32 minus 7 is 25 plus citta. So there are 26 Magga states. Then what about Phala states? 33, 32 plus 4 Phala cittas as 1. Right.





OK. Is it all inclusive or not? Are all the ultimate realities exhausted? No. What are remaining? NibbÈna, r|pa, and vedanÈ are remaining. This ÔikÈ is not all inclusive.





In this book it says 63 sukha vedanÈ, 3 dukkha vedanÈ, 55 upekkhÈ vedanÈ, that is taking somanassa vedanÈ to be 63 and so on. That’s right. So vedanÈ, r|pa and NibbÈna are remaining here. They are not covered by this ÔikÈ. OK. It’s like a game. 





The next one is what? VipÈka dhammÈ, vipÈkadhamma-dhammÈ, n’evavipÈka-dhamma-dhammÈ. Now look at the notes. VipÈka, how is it defined? AÒÒamaÒÒa ‘vi’ siÔÔhÈnaÑ (Vi is in italics.) kusalÈkusalÈnaÑ pÈkÈ. VipÈka is divided into ‘vi’ and ‘pÈkÈ’. It is said that ‘vi’ means visiÔÔha. That means distinct, different. ‘VisiÔÔha’ here means distinct. Distinct from what? Distinct from aÒÒamaÒÒavisiÔÔhÈnaÑ (each other). And what are those that are distinct from each other? They are kusala and akusala. So aÒÒamaÒÒavisiÔÔhÈnaÑ kusalÈkusalÈnaÑ are in genitive plural and pÈkÈ is result. So we get the results of kusala and akusala which are distinct from each other. That is the literal meaning of the word ‘vipÈka’. We will just use resultant for vipÈka, but etymologically ‘vi’ has one meaning and ‘pÈkÈ’ has another. ‘PÈka’ means to mature. When you put money in the bank, there is a maturity date. When it matures, you get a certain amount of interest. You know pÈka comes from paccati, to be cooked. When something is cooked, it becomes matured. Right? So vipÈka = aÒÒamaÒÒavisiÔÔhÈnaÑ kusalÈkusalÈnaÑ (Kusala and akusala are joined together.) pÈkÈ. So vipÈka means the result of kusala and akusala, that are different or that are distinct from each other.





Kusala is blameless. Right? Akusala is blameworthy, with blame. Kusala gives happy results and akusala gives unhappy results, painful results. Kusala is pure and akusala is impure and so on. So they are distinct from each other. Actually they are the opposite of each other. So one teacher, not the Commentary, explained ‘vi’ to mean virodha (the opposite). So we can also say it that way. So ‘vipÈka’ means the result of kusala and akusala.





We will take cittas and cetasikas as vipÈka and not r|pas. There are kammaja r|pas. Right?  They are born of kamma. They are the results of kamma, but they are not called ‘vipÈka’ here because in order to be vipÈka it must be identical with the kamma. Kamma is nÈma. So they must be nÈma. It is like that. Here ‘result’ means identical result, not non-identical result. Although r|pas born of kamma are the result of kamma, they are not taken as vipÈka. So vipÈka is a name for only cittas and cetasikas, not for r|pas. That is explained in the Commentary.


The Commentary gives the example of growing a seed. You grow a seed and it grows into a plant. The plant has leafs, a stalk and so on. Only when it has fruit, do you say that it is fruitful or something like that. The fruit or the seed is the identical result of the seed sown. Only that fruit is called ‘vipÈka’ and not the tree, or branches, or whatever. It is something like that. So ‘vipÈka’ means just the resultants of kusala and akusala and they must be nÈma, not r|pa.





The next one is vipÈkadhammadhammÈ. Now ‘the dhamma in the middle’ means sabhÈva, that is nature, intrinsic nature, or individual essence. Let’s just call it nature. The ‘last dhamma’ just means dhamma. So ‘vipÈkadhammadhammÈ’ means dhammas that have the nature  of maturing. That means that give results. When they become matured, they are said to be transformed into results. However, it is not the real case because the cause is one thing and the result is another. Because of the cause there is the result. Right? However, the cause does not inhere in the result; the result does not inhere in the cause. They are two different things. They are connected only as cause and effect. So here ‘vipÈkadhammadhammÈ’ means dhamma that has the nature of maturing. That means it has the nature of giving resul
